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AMENDMENT TO H.R. 9, AS REPORTED

OFFERED BY MR. CLOUD OF TEXAS

Page 8, after line 5, insert the following:

1 (b) INCLUSION OF COST ESTIMATE.—

2 (1) IN GENERAL.—The President shall include
3 in the plan under subsection (a) an estimate of the
4 costs to the United States for meeting its nationally
5 determined contribution under the Paris Agreement.
6 (2) ELEMENTS.—The cost estimate required
7 under paragraph (1) shall include the following:

8 (A) A projection of government expendi-
9 tures to implement the plan.
10 (B) An analysis of how the plan will im-
11 pact jobs in the United States, including which
12 jobs will be cereated and which jobs will be lost.
13 (C) An estimate of the plan’s costs to the
14 private sector in the United States.
15 (D) An estimate of the extent to which the
16 plan will raise the national debt.
17 (E) An estimate on how many tons of
18 oreenhouse gas emissions the plan will reduce.
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2
1 (F) An estimate on the plan’s impact on
2 elobal temperatures.
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  Page 8, after line 5, insert the following: 
  
  (b) Inclusion of cost estimate 
  (1) In general The President shall include in the plan under subsection (a) an estimate of the costs to the United States for meeting its nationally determined contribution under the Paris Agreement.  
  (2) Elements The cost estimate required under paragraph (1) shall include the following: 
  (A) A projection of government expenditures to implement the plan. 
  (B) An analysis of how the plan will impact jobs in the United States, including which jobs will be created and which jobs will be lost. 
  (C) An estimate of the plan’s costs to the private sector in the United States. 
  (D) An estimate of the extent to which the plan will raise the national debt. 
  (E) An estimate on how many tons of greenhouse gas emissions the plan will reduce. 
  (F) An estimate on the plan’s impact on global temperatures. 
 

